MATHS

BOOKS - MCGROW HILL EDUCATION MATHS (HINGLISH)

AREA BY INTEGRATION

lllustration

1. Find the area between the curve y = z(z — 3) and the ordinates x = 3

and x = 5.

° Watch Video Solution

2. Determine the are between y = 2z% 4+ 10 and y = 4z + 16

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DOVhCJjKGfkT
https://dl.doubtnut.com/l/_xnOrmNUThhzt

3.Find the area between the curve y = z(z — 3) and the ordinates x =

Oand x=5.

° Watch Video Solution

4. Find the area of the region in the first quadrant enclosed by

t=y>and ¢ =y +2

o Watch Video Solution

Solved Examples Concept Based Single Correct Answer Type Questions

1. The area of region between y = 4 — :cz, 0 < x < 2and the x-axis is

[~ |

= W


https://dl.doubtnut.com/l/_GVErDM1VxaBI
https://dl.doubtnut.com/l/_IMWRyWWvNnNd
https://dl.doubtnut.com/l/_NjdZF83l1U1y

Answer: C

o Watch Video Solution

2. The area of the region enclosed by y = x* and y = ,/|z| is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NjdZF83l1U1y
https://dl.doubtnut.com/l/_zHDlic3l5xN4

3. The area of the region bounded by the curve y = 2% and y = x is equal

to

w
Wl = o

D.1

Answer: A

o Watch Video Solution

4. The area of the regioin bounded by y =logz,y =2 and the

coordinate axes is

Ae—2

B.e? — 1


https://dl.doubtnut.com/l/_dng7rVRT9m62
https://dl.doubtnut.com/l/_Iq3JPraFb8aN

Ce” —e

D.e2 +1

Answer: B

o Watch Video Solution

5.Find the area bounded by z = 2y — y2andthey — aés-

Wl W

|

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Iq3JPraFb8aN
https://dl.doubtnut.com/l/_AtaeKVYJ0yC2

Solved Examples Level 1Single Correct Answer Type Questions

1. The area of the region bounded by the lines z =0,z = % and

f(z) = sinz, g(z) = cosz is (A) 2(v/2 + 1) (B) /3 —1(C) 2(v/3 — 1)
D) 2(v2 — 1)

A.2(y/2—1)
B../3— 1

C.2(v/3-1)
D.2(v2 + 1)

Answer: A

o Watch Video Solution

2. Area bounded by the curve y = /5 — 2 and y = |x-1| is

(i)


https://dl.doubtnut.com/l/_hvGtxFmXOU6y
https://dl.doubtnut.com/l/_AU4lXwPpiY90

B.(5”4‘2)

C.(5m —2) /2
D.(m/2—5)
Answer: B

o Watch Video Solution

3. The area bounded by the curves y* = 4z and 2 = 4y

A.32/3
B.16/3
Cc.8/3

D.O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AU4lXwPpiY90
https://dl.doubtnut.com/l/_fSa7w2dH0nJ8

4.The area of the plane region bounded by the curves = + 2y* = 0 and
+3y* = 1] to (1) = () = (3) = (4) =
x y" =lisequalto (1) 5 (2) 3 B) 53 (4) 5
A5/3
B.1/3

C.2/3

D.4/3

Answer: D

o Watch Video Solution

1
5. The area of the region enclosed by the curves y = z,z = e,y = =

3 5 1
and the positive x-axis is (A) 3 sg. units (B) 3 sg. units (C) 3 sg. units

(D) 1 sq. units

A.5/2 square unit

1
B. 3 square units


https://dl.doubtnut.com/l/_dUm90Svkuq5u
https://dl.doubtnut.com/l/_egMzTvzDz8cX

C.1square unit

3
D. 3 square units

Answer: D

o Watch Video Solution

6. The area bounded between the parabola 2% = % and z? = 9y and

the straight liney = 2 is

104/2
L

20+/2
B. T

C.10/2
D. 20+/2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_egMzTvzDz8cX
https://dl.doubtnut.com/l/_Z10RmYHrAbyN
https://dl.doubtnut.com/l/_xiJJnwrGvN78

t
7. Let F(x) bet the area bounded by the curve f(t) = 67 between

t =a(a > 1),t ==z and axis of abscissa then the area bounded by

et

g(t) = (to > 0) between t = a, t = x and axis of abscissa is
1+ &

A €"[F(z + ty) — 2F(a + ty)]
B.e"[F(z +ty) — F(a + t)]
C.e M[F(z +ty) — F(a+ty)]

D.e "[F(z + ty) — F(a + t)]

Answer: C

o View Text Solution

8. Find the area lying above x-axis and included between the circle

z? + y? = 8zand the parabola y? = 4z.

A 52 + 2
. — s
3

832+6
-3 m


https://dl.doubtnut.com/l/_xiJJnwrGvN78
https://dl.doubtnut.com/l/_90KHtEJpj13n

16
C.— +4m

32
D. — + 4w

Answer: D

o Watch Video Solution

9. Find the ratio in which the area bounded by the curves

y* = 12zandz® = 12yis divided by the line z = 3.

A.15:49
B.13:48
C.12:37

D.16: 35

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_90KHtEJpj13n
https://dl.doubtnut.com/l/_F3iVx9cmdyU2
https://dl.doubtnut.com/l/_5klaq2wJFEpS

10. The area bounded by the curve y = |z — 1| and y = 3 — ||

A.6
B.2
C.4

D.3

Answer: C

o Watch Video Solution

11. Let f(x) = minimum (:13 + 1,1 — :1:) for all = < 1. Then the area

bounded by y=f(x) and the x-axis is

>

®
®|: | w3

N


https://dl.doubtnut.com/l/_5klaq2wJFEpS
https://dl.doubtnut.com/l/_TkUEiRwD0TqQ

Answer: B

o Watch Video Solution

12. The area of the region

r=1z=2,y=4c+1,y=¢€"is

AT7+e— e

B.5—|—e—e2

CT—e+é?

D.7 — 2e + &2

Answer: A

bounded

by

° Watch Video Solution



https://dl.doubtnut.com/l/_TkUEiRwD0TqQ
https://dl.doubtnut.com/l/_KdsOHa6DyUyi

Solved Examples Level 2 Single Correct Answer Type Questions

1. The area between the curve y = — 2?44z and y =22 — 6z +5

over theinterval 0 <z < 1is

52 _
A +5v15

52 _
B.— -+ 5v/15

52 _
-5 +3/15

4 _
0. 5+ 5y/T5

Answer: B

° View Text Solution

2. Find the area of the region

y* =9z and y = 3z.

Al

bounded by

the

curve


https://dl.doubtnut.com/l/_RP7y0fk2frhe
https://dl.doubtnut.com/l/_vmPvRoDOnMVK

B.1/4
c.1/2

D.2

Answer: C

° Watch Video Solution

3. The area of the plane figure bounded by lines
y=z,z€0,1,y=2*z€(l,2) and y= — 2>+ 2z +4,z € [0,2]
is

A10/7

B.10/3

C.3/5

D.4/3

Answer: B


https://dl.doubtnut.com/l/_vmPvRoDOnMVK
https://dl.doubtnut.com/l/_BMTAIR8GHwlJ

o Watch Video Solution

4. The value of a(a > 0) for which the area bounded by the curves

1
Yy = % + =y = 0,z = a, and = = 2a has the least valueis .
x

Al

B. /2
C.2

D.2!/3

Answer: D

o Watch Video Solution

5.The area bounded by the curve y = m(mz — 1) and x-axis is

A.O



https://dl.doubtnut.com/l/_BMTAIR8GHwlJ
https://dl.doubtnut.com/l/_QPb1KfDOciU5
https://dl.doubtnut.com/l/_FiLPHRD59a4R

C.1

Answer: B

o Watch Video Solution

6. The area between the curves z = 1 — y?and z = y? — 1is

w|lot w|oo w|~ Wk

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FiLPHRD59a4R
https://dl.doubtnut.com/l/_TYFViqsBO41y

7.The area bounded by y = 22, y = VE,0 <z < 4is

Answer: D

o Watch Video Solution

8. The area of the region enclosed by

y=a3—22> +2 and y = 3z + 2is

AT
"6

B.14


https://dl.doubtnut.com/l/_3v759jrRuTpS
https://dl.doubtnut.com/l/_r3C1MBGtchX9

Answer: A

o View Text Solution

Solved Examples Numerical Answer Type Questions

1. Find the area bounded by the curves & = y% and & = 3 — 2%

o Watch Video Solution

2.If Ais the area of the figure bounded by the straight lines x =0 and x =

2 and the curves y = 2x and y = 2z — z® then the value of

( 3 —A) is
log 2

o Watch Video Solution



https://dl.doubtnut.com/l/_r3C1MBGtchX9
https://dl.doubtnut.com/l/_FXGRXDzr5pvn
https://dl.doubtnut.com/l/_8n7XzTby5rEf
https://dl.doubtnut.com/l/_80yuTVv7KL2o

3.1f S is the area of the figure given below, then S is equal to (7 = 3.14)

Y,

o Watch Video Solution

4.1f Ais the area of the loop given below than A is equal to

o View Text Solution

5.1f S is the area in the figure below then S is equal to

° View Text Solution

Exercise Concept Based Single Correct Answer Type Questions



https://dl.doubtnut.com/l/_80yuTVv7KL2o
https://dl.doubtnut.com/l/_G78MUQVDH3sD
https://dl.doubtnut.com/l/_AmYRUG2IWDTU

1. The area below y = e” and above y = x between x =0 and x = 2 is

Ae?—1
B.e2—|—e
Ce2 -3

D.e + 2

Answer: C

o Watch Video Solution

2.The area between y=xand y = zcz, 0<x<2is

Al

Wik W~ w|


https://dl.doubtnut.com/l/_54HQeJSvHcX9
https://dl.doubtnut.com/l/_CBPtf5bhO1cR

Answer: A

o Watch Video Solution

3. The area of the region bounded by y = 2> — z and y = 2z + 4is

175

6

B31
"6

Answer: D

o View Text Solution

4.The area of the region enclosed by the parabola y = 2 — % and the

straight liney = — x is equal to:


https://dl.doubtnut.com/l/_CBPtf5bhO1cR
https://dl.doubtnut.com/l/_tshsSj0PQhcu
https://dl.doubtnut.com/l/_S3NZcWKIqjpD

8/2 +3
A,\/__7+

8/2 + 6
B. ————

731
C,\fT

V2 +1
D. ———

Answer: B

o Watch Video Solution

5.The area of the region bounded by y = z?andy = — 22 + 2is

w
w|oo w|k w|w

o

Answer: C

| ° war_r_L vl ~_ ..


https://dl.doubtnut.com/l/_S3NZcWKIqjpD
https://dl.doubtnut.com/l/_Kj43wiB6pBvV

L vvdilil vIUCO o0I1ULiOIll )

Exercise Level 1Single Correct Answer Type Questions

1. The total area between y = 42 — 2> and y = « from x = 0 and x = 4

is

Answer: ¢

o Watch Video Solution

2. The area between the curves y = 2% and y = x1/3, —1<x<1is



https://dl.doubtnut.com/l/_Kj43wiB6pBvV
https://dl.doubtnut.com/l/_bqzy1IKALj89
https://dl.doubtnut.com/l/_g9A3vQ7iIeuD

oo | w

Answer: D

° Watch Video Solution

3. The area of the region bounded by the parabola (y — 2)* = 2 — 1,
the tangent to the parabola at the point (2, 3) and the x-axis is

A9

B.12

C.3

D.6

Answer: A


https://dl.doubtnut.com/l/_g9A3vQ7iIeuD
https://dl.doubtnut.com/l/_pjNapKp46ZWs

° Watch Video Solution

4.The area bounded by the curves y = cos z and y = sinz between the

. 3
ordinates x = Qand x = > is

A4dy2 -1
B.4y/2 + 1
C.4y/2 -2

D.4y/2 + 2

Answer: C

o Watch Video Solution

5.The area included between 22 + y?> = 4z and y? =  above x-axis is

A

|

(3w — 8)


https://dl.doubtnut.com/l/_pjNapKp46ZWs
https://dl.doubtnut.com/l/_iePpn96MCEnZ
https://dl.doubtnut.com/l/_fi7OEt6XGsZa

B. - (8 + 3m)

C.-(4+ 3m)

5v3 2
D\/_ﬂ-

2+3

Wl W

Answer: D

o Watch Video Solution

6. The area of the region bounded by y = 2cos xz, y = 3tanz and the y-
axis is
3
Al+ 510g3 — log2
3
B.log—
g5
C.1+4+3l 2
. og—
V3

3
D.1+ 510g3 — log8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fi7OEt6XGsZa
https://dl.doubtnut.com/l/_YVA5Q6ijfgUT

7. The area bounded by y = sin ™' z, y-axis and |y| = % is

A2

C.2w

D.1

Answer: A

° Watch Video Solution

8. The area of the region

x=1z=2y=1logz and y = 3" is

—2log2 +1
log3 082+

bounded

by


https://dl.doubtnut.com/l/_YVA5Q6ijfgUT
https://dl.doubtnut.com/l/_EgQllgjpLUdz
https://dl.doubtnut.com/l/_moC3fPB9HjMT

C. — 2log2
log3 °8
D. —2log2 +1
log3 g2+
Answer: B

o Watch Video Solution

9. The area inside the parabola 52> — y = 0 but outside the parabola
2z —y+9=0is

A 4./3

B.64/3

C.12,/3

D.8,/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_moC3fPB9HjMT
https://dl.doubtnut.com/l/_Z4DQps5cnAnq
https://dl.doubtnut.com/l/_aIexwxOOQxen

10. The area bounded by the curve y = 2 log x, x-axis, y-axis and y = log 5

is equal to
3(v5—1)
B.4
C.2(v5-1)
D./5—1
Answer: C

o View Text Solution

Mlet A= {(z,y):y° <4dz,y— 2z > — 2,y > 0}. The area of the

region A is

(1+5)*% =2

ool..m oo|m

(3+ 5)*?


https://dl.doubtnut.com/l/_aIexwxOOQxen
https://dl.doubtnut.com/l/_LR5Qtn2DyEdk

2 32 1
C 33+ " =3 +30)

D. % (34 5)

3/2

— (5+44/5)

Answer: C

o Watch Video Solution

12 The area of the region above x-axis bounded by

oty g E
y=cotz, o Sz < is
Al
B.log(\/§+1)

C.log(y/5 + 1)

D.log(+/3 + 1)

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_LR5Qtn2DyEdk
https://dl.doubtnut.com/l/_q7fDNMxJbpHv

Exercise Level 2 Single Correct Answer Type Questions

1. The area between z = y + 3and z = y2 fromy=-Ttoy = 1is

w >

0
w| ot — o
o ol

Answer: B

o Watch Video Solution

2. The area of the region between y = 3z —z? — 10z and

y= —x?+2zis

A.10

B.12



https://dl.doubtnut.com/l/_vhJJ6CZVe3ql
https://dl.doubtnut.com/l/_H6jg4edHAij0

C.18

D. 24

Answer: D

o Watch Video Solution

3. The area of the region bounded byy=x-1and z = 3 — % is

@
N o3 | ot

o
N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H6jg4edHAij0
https://dl.doubtnut.com/l/_Lchwdi4WuvOU

4.The area between the curves y = z2 + 3 and y= — 2 —1on[-2,2]

is

Answer: A

o View Text Solution

5. The area the region enclosed by

f(z) = 2> — 10z and g(z) = 6z, > 0, > Ois

A 24

B. 39


https://dl.doubtnut.com/l/_pdvg9t5NtnQY
https://dl.doubtnut.com/l/_65I4VCcXVW6B

C. 42

D. 84

Answer: B

o Watch Video Solution

6. The area bounded by y = z? and y=1-— 22 is

A /8/3
B.16/3
C.32/3

D.16/3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_65I4VCcXVW6B
https://dl.doubtnut.com/l/_tS11J2lOqYin

7. The area of the region bounded by the lines £ =0,z = % and

f(z) = sinz, g(z) = cosz is (A) 2(v/2 + 1) (B) /3 — 1(C) 2(v/3 — 1)
(D) 2(v2 — 1)

A2(v2-1)
B.y/3-1

c.2(v3-1)
D.2(v2+ 1)

Answer: A

o Watch Video Solution

8. The area of the figure bounded by the curves y? = 2z + 1 and

z—y—1=0,is

A.16/3

B.4/3


https://dl.doubtnut.com/l/_uo4z2gITpryv
https://dl.doubtnut.com/l/_GkmA3F51a64w

Answer: A

o Watch Video Solution

Exercise Numerical Answer Type Questions

1. If A is the area bonded by x = 'yz — 1‘ and y = x — 5 then A is

equal to

o Watch Video Solution

2. If the x-axis divides the area of the rigion bounded by the parabolas

2

y=4—z -2 and y*> — 2% — z in the ratio of a: b, then ab is equal to

o View Text Solution



https://dl.doubtnut.com/l/_GkmA3F51a64w
https://dl.doubtnut.com/l/_HFuZwhQxSg2c
https://dl.doubtnut.com/l/_v8wGTvp38Vms

3. The line y = max bisects the area enclosed by the curve

3
y=1+4x —z® and the lines & =0,z = —andy = 0. Then the

2

° Watch Video Solution

4. Let A be the area bounded by the curve y = sinz(0 < z < 7) and x-
axis and B is the area bounded by the curves
y=sinz(0 <z <n/2),y=acosz(0 <z <m/2) and  xaxis

(a > 0).1f A:B=1, then a is equal to

o View Text Solution

5. If the area bounded by the curve f(z) = z'/3(z — 1) and the x-axis

is A, then the value of 28Ais_.

° Watch Video Solution



https://dl.doubtnut.com/l/_KkXXgk27YtAy
https://dl.doubtnut.com/l/_mNat7rEWokBB
https://dl.doubtnut.com/l/_L085wDt2R1n9

Question From Previous Years Aieee Jee Main Papers

1. The area of the region bounded by the curves y = |z — 2|, x=1, x=3
and thex — asis(A)3(B)2(C)1(D)4

A3

B.2

C.1

D.3

Answer: C

° Watch Video Solution

2. The area enclosed between the curve y =log (z +e) and the

coordinate axes is

A3


https://dl.doubtnut.com/l/_tohQApEGyeYW
https://dl.doubtnut.com/l/_tKqqSCTSuqXw

B.4

C.1

D.2

Answer: C

o Watch Video Solution

3.The area enclosed between the curves y2 = zandy = |z|is (1) 2/3 (2)

1(3)1/6(4)1/3

|

Wl o=

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tKqqSCTSuqXw
https://dl.doubtnut.com/l/_WWaPWokWHaJA

4.The area of the plane region bounded by the curves z + 2y* = 0 and
+3y" = Tisequalto (1) = (2) = () = (4) =
—= 1 fR— — J— J—
x Y s equal to (1) 5 3 3 3
A5/3
B.1/3
C.2/3

D.4/3

Answer: D

o Watch Video Solution

5. The area of the region bounded by the parabola (y — 2)° = z — 1,

the tangent to the parabola at the point (2, 3) and the x-axis is

A.9


https://dl.doubtnut.com/l/_WWaPWokWHaJA
https://dl.doubtnut.com/l/_Z7laMd9ZHycn
https://dl.doubtnut.com/l/_Hl89xYy7laDW

B. 12

C.3

D.6

Answer: A

o Watch Video Solution

6. The area bounded by the curves y = cos x and y = sin x between the

. 57
ordinates x=0and ¢z = TR is

A4dy2 -1
B.4y/2 + 1
C.4y/2 -2

D.4y/2 + 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Hl89xYy7laDW
https://dl.doubtnut.com/l/_qPUgYCipcrQa

7.The area bounded by the curves y? = 4z and 22 = 4y

Nz
"3
;. 16
"3
o

3

D.O

Answer: B

° Watch Video Solution

8.The area bounded between the parabolas z? = % and z? = 9y and

the straight line y=2 is

104/2
A.T\/_

20+/2
B. T


https://dl.doubtnut.com/l/_qPUgYCipcrQa
https://dl.doubtnut.com/l/_d0sgLeBJl9Hj
https://dl.doubtnut.com/l/_1cfNJmDorZrl

C.104/2
D. 20+/2

Answer: B

o Watch Video Solution

9.The area bounded by the curves y = ,/z, 2y — z + 3 = 0, X-axis and

lying in the first quadrant is

A.36

B.18

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1cfNJmDorZrl
https://dl.doubtnut.com/l/_5wacerdAaSWY
https://dl.doubtnut.com/l/_vt8Ks9SdLqUe

™
10. The area under the curve y = |cosxz — sinz|,0 < z < > and

above x-axis is: (A) 24/2 + 2 (B) 0 (C) 24/2 — 2 (D) 2¢/2

A 2¢/2
B.2v/2 — 2
C.2¢/2+2
D.0
Answer: B

o Watch Video Solution

1. The area bounded by the curve y =In(z) and the lines

y =0,y =1n(3) and z = O'is equal to

A3

B.3log — 2


https://dl.doubtnut.com/l/_vt8Ks9SdLqUe
https://dl.doubtnut.com/l/_U9DkSwotuc5U

C.3log3 + 2

D.2

Answer: D

o Watch Video Solution

12. The area of the region described by A = {(z,y): 2> + y* < 1 and

y? <1l—z}is:

+

(Y I T Y = R N B R Y

_|_
Wl W Wk ks

o

Answer: A

© Watch video Solution



https://dl.doubtnut.com/l/_U9DkSwotuc5U
https://dl.doubtnut.com/l/_Kq7dd8rfxRDL
https://dl.doubtnut.com/l/_dhXlgDHSyAx5

13. Let A = {(:I:,y); v <de,y—2c < — 4}The area (insurunits) of

the region Ais

A.8
B.9

C.10

Answer: B

o Watch Video Solution

14. The area of the region bounded by the curve y = tanz, tangent

T
drawn to the curve at £ = — and the x-axis is

4
log 2 .
og 5
log 2 + .
og 5

A.

B.

| = N =


https://dl.doubtnut.com/l/_dhXlgDHSyAx5
https://dl.doubtnut.com/l/_Bh9oIJskafL9

1
C. = (1 —log2)
2
1
D. 5(1 + log2)
Answer: A

o Watch Video Solution

15. The area (in square units) of the region bounded by the curves

y+2z° =0,y + 322 = 1is equal to

Wk W~ x| w ol w

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Bh9oIJskafL9
https://dl.doubtnut.com/l/_LVKtJ8XUqo2T
https://dl.doubtnut.com/l/_9vLz5Wx3IXXP

16. The area (in square units) of the region described by

{(ac,y):y2 <2z and y <4 —=z}is

Answer: D

o Watch Video Solution

17.  The area (in square units) of  the region

{(ac,y):y2 > 2z and z? + 9 < 4z, = ZO,yZO} is


https://dl.doubtnut.com/l/_9vLz5Wx3IXXP
https://dl.doubtnut.com/l/_k11EQTr4mBKx

3
s 22
"2 3
Answer: B

o Watch Video Solution

18. The area (in sq. units) of the region described by

A:{(x,y):y2x2—5x+4,x—|—y>1,y§0}is

A19
"6

Answer: A

© Watch video Solution



https://dl.doubtnut.com/l/_k11EQTr4mBKx
https://dl.doubtnut.com/l/_DMwx0t8x8wt1
https://dl.doubtnut.com/l/_MnEUYPgDH3Mm

19. The area ( in sq. units) of the

{(w,y):mZO,m—l—y§3,w2§4yandy§1+\/§}is:

Answer: A

region

o Watch Video Solution

20. The area (in sq. units) of the

{(m,y),xZO,yZO,yZm—Z andygﬁ}is

region


https://dl.doubtnut.com/l/_MnEUYPgDH3Mm
https://dl.doubtnut.com/l/_dBDgleqPudka

N

O
w| oo w] ot

Answer: A

o Watch Video Solution

21. Let g(z) = cos z2, f(z)

= /z,and a, B(a < B) be the roots of the

quadratic equation 1822 — 97z 4+ n2 = 0. Then the area (in sq. units)

bounded by the curve y = (gof)(z) and the lines x = o, z = 8 and

y=20is
5(\/3+ 1)
6. 5(V3-v?)
C.%(\/i—l)
0.5 (v3-1)

Answer: D

f


https://dl.doubtnut.com/l/_dBDgleqPudka
https://dl.doubtnut.com/l/_BZh6YlnzZzqB

l o Watch Video Solution J

22. The area (in sq. units) bounded by the parabola y = z? — 1, the

tangent at the point (2,3) to it and the y-axis is

w >
w w|oo o —
w8 “l® g wr

N

o

Answer: C

° Watch Video Solution

23. The area of the region

A=A{(z,y),0<y<zlz|+1and — 1<z <1}insq.units,is

A2
"3


https://dl.doubtnut.com/l/_BZh6YlnzZzqB
https://dl.doubtnut.com/l/_wXFgrvKMSfbO
https://dl.doubtnut.com/l/_Z2gf2ylVT9nC

Answer: C

o Watch Video Solution

24. If the area enclosed between the curves y = kz? and z = ky?,

V3

1 2 _
where k > 0, is 1square unit. Then ki is: (a) (b) (c) (d) +/3
BO T OFeY

3

S ousle sl

N

o

Answer: A

[ o Wakl.\tdaa CAl..kfam



https://dl.doubtnut.com/l/_Z2gf2ylVT9nC
https://dl.doubtnut.com/l/_6RMCR4lMtyP7

¢ _vYvdilll VIUCU JUIUVLIVII J

b
25.Let I = / (:r;4 — 2:(;2)d:p. If 1 is minimum then the ordered pair (a,
a

b) is:
A (~3,0)
B. ( - \/Z \/5
c.(0,v3)
D. (\/?7 - \/5)

Answer: B

o Watch Video Solution

26. The area of the region bounded by the curve z? = 4y and the

straight linex = 4y — 2is

5
A —
4


https://dl.doubtnut.com/l/_6RMCR4lMtyP7
https://dl.doubtnut.com/l/_2OnyIb5vXq9E
https://dl.doubtnut.com/l/_TRQ4mPcvzvaX

N
0| | w oo

Answer: B

o Watch Video Solution

27. The area (in sq units) of the region bounded by the parabola,

y= x> +2and thelines,y =z + 1,2 =0 and = = 3,is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TRQ4mPcvzvaX
https://dl.doubtnut.com/l/_Ze04dbPk8VzX

28.The area (in sq units) in the first quadrant bounded by the parabola,

y = z2 + 1, the tangent to it at the point (2, 5) and the coordinate axes

is

Answer: C

o Watch Video Solution

Question From Previous Years B Architecture Entrance Examination Papers

1. The area enclosed by the parabola y = 3(1 — m2) and the x-axis is


https://dl.doubtnut.com/l/_Ze04dbPk8VzX
https://dl.doubtnut.com/l/_joFsGX7my9xM
https://dl.doubtnut.com/l/_2sHczyaW8QP8

A4

B.3

C.9

D.2

Answer: A

° Watch Video Solution

s
2.The line y = « + 1 divided the area the curves y = cos z, [ - =, =
and the x-axis into two regions which are in the ratio

A2:1

B.1:3

C.2:3

D.1:1

Answer: B


https://dl.doubtnut.com/l/_2sHczyaW8QP8
https://dl.doubtnut.com/l/_gF442HFP2vD2

o Watch Video Solution

2

3. Find the area enclosed by the curves ° = y, y = = + 2, andx — aés-

0

O
| o rl;|5 oot x| ot

Answer: D

° Watch Video Solution

4.Find the area of the region {(z, y):2” < y < |z|}.



https://dl.doubtnut.com/l/_gF442HFP2vD2
https://dl.doubtnut.com/l/_QLyx5PkkCQ4G
https://dl.doubtnut.com/l/_W6OcTUHs5N8V

Answer: C

o Watch Video Solution

5. Find the area of region

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_W6OcTUHs5N8V
https://dl.doubtnut.com/l/_7ayWelewcuzX
https://dl.doubtnut.com/l/_4ep5OZIQ5nll

6. The area of the region bounded by  curves

y=1—-z>,z+y+1=0and z —y—1=0is

w|loo w3 w|5

o
w

Answer: B

o Watch Video Solution

7. Find the ratio in which the area bounded by the curves

y* = 12zandz? = 12yis divided by the line z = 3.

147

4

. B
"4


https://dl.doubtnut.com/l/_4ep5OZIQ5nll
https://dl.doubtnut.com/l/_oS1OHue5cmgg

Answer: A

o Watch Video Solution

8. The area (in sq units) of the region bounded by the curve y = ,/z

and thelinesy =0,y =2 — 2, is
10
3
8
3
4
3
16
3

Answer: A

© Watch video Solution



https://dl.doubtnut.com/l/_oS1OHue5cmgg
https://dl.doubtnut.com/l/_JC3sQWD2ONhh
https://dl.doubtnut.com/l/_9aGI1Dq7vB2V

1
9. If the line x=a bisects the area under the curve y = — 1<x<9,
T

then a is equal to

Ol ] oot o] w©

Answer: A

o Watch Video Solution

10. If the line, y = ma bisects the area of the region

3
{(az,y):O <z < 5,0 <y<l1l+4x —:CZ},thenmequals:


https://dl.doubtnut.com/l/_9aGI1Dq7vB2V
https://dl.doubtnut.com/l/_Yy0Zgphfy4ul

Answer: D

o View Text Solution

1. The area (in sqg. units) of the region bounded by the curve

12y = 36 — 2% and the tangents drawn to it at the points, where the

curve intersects the x-axis is

A 12
B.18
C. 27

D.6

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Yy0Zgphfy4ul
https://dl.doubtnut.com/l/_13nQpYlU4uAa

12. The area (in sq. units) of the region bounded by the curve

1 1
VT + /¥y =1,z,y, > 0and the tangent to it at the point (Z’ Z) is

A

ﬁ|l—‘ E|}—l o] = glr—l

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_13nQpYlU4uAa
https://dl.doubtnut.com/l/_ydLQMGfH03VA

